SGH—rL—RIS2TY) HBR=E

=30 H RRPREHE (LL644)
[:3iva BFEL fiE | BEESE | FHEA " =
1 FW AF R 1 16.0
2| #AKRE—ER EM 2 16.0
3| WHAE E5A M= 77 16.0 3HEBARRIL
4| 7R FHE R0 5 89 14.0
5| AfF Rttt 8RIF 6 13.0
6 mE OB 8RIF 7 12.6
71 2 =i =l 9 12.6
8| HE mF 8RIF 65 12.6
9| K R EM 10 12.0
10| AR HA = 11 12.0
11 gHF BN R0 5 54 11.6
12 2R &% 8RIF 20 11.3
13| BRM —# e 59 11.3
14| A #t BRI 5 11.0 3HEBEARRIL
15 BJIEKRER | #25 16 11.0
16| 1kfE EESR M= 3 10.6
17] X ®Hz EM 21 10.6
18 AP B BRiF 29 10.6
19 M5 B e 36 10.6
20| EHH KM M=) 15 10.3
21 mXR B o 26 10.3
22| &R BE BRiF 28 10.3
23| #HKX EBE 8RIF 76 10.3
24|  kH KNt M= 22 10.0
25| Ll B e 23 10.0
26 | WU R R 66 10.0
27| GthHEH BEF0 [=! 68 10.0
28| BHAX GEE | F2K 63 9.6 i T
29| T EE BRiF 73 9.6
30| MEAER i=! 18 9.3
31 AIRF &R BRIF 33 9.3 pEA =
32 Ee B EM 96 9.3
33 FE && BRIF 78 9.0 A3
34| £F K EM 12 8.6
3B| FEE EE R85 24 8.6
36| /I IHE =l 25 8.6
37| H# JAER R85 48 8.6
38| HIII FAA = 85 8.6
9| FEk EX EM 19 8.3 PEd=4
40| 1k 8= ne 41 8.0
41| BT BRIF 42 8.0
42| FH HE M= 49 7.6
43 FE LN FEI% 60 7.6
4 Al FH FEI% 81 7.6
45 | #EAH E— (L1 34 7.3
46| HH EE R85 58 7.3
47 BRIl = 8RIF 61 7.3
48| FElff =— (s 95 7.0
49 & =B o 14 6.6
50 ERARK &K L5 51 6.6




[ iva EF4A il EEIE R EHB/R B =
51| ¥rF EI: BT 62 6.6
52| IMVER E = 88 6.6
53 £H { 11111 ER 55 6.5 3H B AR
54 B F ma 82 6.5 3B BARIL
55| =iE BB R 35 6.3 S T
56 nE ¥ mE 50 6.3
57] AN 5F R 38 6.0
58| RET &ET R 83 6.0
59| FHER KA T 39 5.6
60| IUEH ZEth =) 52 5.6
61 25 1CH R BI5 79 5.6
62| mEF F = 84 5.6
63 hi = 8RIZ 17 5.3
64| HE IFH EM 43 5.3
65 Z H1T g 30 5.0
66| A —in = 94 5.0 3H B AL
67| BEHR BX BRI% 74 4.6
68| =Aa FiF i=! 86 4.6
69 | {EARMENE | F25 93 4.6
70| HH KM EM 46 4.0
71 /11'.“:/% ﬂin_.' ﬁ*%@'-lllﬁ 53 4.0
72| K¥H FEF EETE 69 40
73 EE = no 87 4.0
74| EHW FA = 45 3.0
75 He #7 TS 91 3.0 3H B A RIL
76 B & no 32 2.0
77| O #%3 BRIF 71 2.0 1HEM%
18| K E#E EM 80 2.0
79| BiZE BN M= 92 2.0
80 A& 7 BRIZ 70 1.6 BE3
81 NS = 75 1.6
82| &M EEP EM 64 1.3
83 = B BRIZ 72 1.3
84 HZT 1% EM 90 1.0
85 | FEFREAER (s 47 0.6
86| TEH —i% EM 40 0.3 pEA =
87| XE BE R 56 0.0
| {EBE B M= 4 EE
x| kB Bt PN 8 Rk
x| WE %E (s 13 =
x| LtAHB%E = 27 S InfEkR
x| KEEAXE e 31 EHER
X BAKR AH M= 37 22425
| SHE 128 8RIF 44 22425
| &KX EM 57 22425
x| dtlm EE 8RIF 67 25425

R EDFZE(L. SGA

thEBEDOREIZKYELNGVEE TR RBRNIELET,

XIEHE ENVIERI DB NEFTY,

F—hL—RT 507 BREAEEICE T B EIENE ERELET,




	３日目

